THE PALEY-WIENER THEOREM BY THE HEAT KERNEL METHOD

SUNMI LEE AND SOON-YEONG CHUNG

ABSTRACT. We use the heat kernel method to prove newly the Paley-Wiener theorem for the distributions with compact support.

1. Introduction

Concerning the Schwartz distribution theories, one of the most famous theorems is the Paley - Wiener theorem for the distributions with compact support which characterizes the functions or generalized functions via the growth at infinity and the regularity of their Fourier transform.

Generally speaking, it is easy to pass from the support information about a distribution f to the analyticity condition on their Fourier transform \hat{f} , but it is rather tricky to proceed in the reverse direction.

The first step to this was introduced by N. Wiener and R. Paley[12] for the first time as for the case of functions, and extended to the distributions[10], to the ultradistributions by Komatsu[8] under some conditions.

Recently, T. Matsuzawa[9] introduced the heat kernel method to characterize hyperfunctions with compact support and Gevrey ultradistributions with compact support. This method has been developed very much to study various generalized functions[2, 3, 4].

The purpose of this paper is to apply the heat kernel method to prove newly the Paley - Wiener Theorem for distributions with compact support.

Received January 24, 1998. Revised March 30, 1998.

¹⁹⁹¹ Mathematics Subject Classification: Primary 46F05; Secondary 35K05.

Key words and phrases: Paley-Wiener theorem, heat equation.

Partially supported by GARC-KOSEF and Ministry of Education.

2. Preliminaries

Throughout this paper we use a conventional multi-index notations such as; $|\alpha| = \alpha_1 + \cdots + \alpha_n$, $D^{\alpha} = D_1^{\alpha_1} \cdots D_n^{\alpha_n}$, $D_j = -i \frac{\partial}{\partial x_j}$, $j = 1, \ldots, n$, $i = \sqrt{-1}$, and

$$\partial^{\alpha} f = rac{\partial^{|lpha|} f}{\partial x_1^{lpha_1} \cdots \partial x_n^{lpha_n}}$$

for an n - tuple $\alpha = (\alpha_1, \dots, \alpha_n) \in \mathbb{N}_0^n$ where \mathbb{N}_0 is the set of nonnegative integers.

First we introduce the distributions and the distributions with compact support.

DEFINITION 2.1. (i) For an open set X in \mathbb{R}^n a distribution T on X is a continuous linear functional on $C_0^{\infty}(X)$ i.e. for every compact subset $K \subset X$, there exist a nonnegative integer N and a positive constant M such that

$$|\langle T, \phi \rangle| \le M \sup_{\substack{|\alpha| \le N \\ x \in K}} |\partial^{\alpha} \phi(x)|, \quad \phi \in C_0^{\infty}(K).$$

By $\mathcal{D}'(X)$ we denote the set of all distributions on X.

(ii) A distribution T with support in a compact set K is a continuous linear functional on $C^{\infty}(\mathbb{R}^n)$ i.e there exists a positive number N such that for every $\epsilon>0$ we have

$$(2.1) |\langle T, \phi \rangle| \le C_{\epsilon} \sup_{|\alpha| \le N \atop \tau \in K} |\partial^{\alpha} \phi(x)|, \quad \phi \in C^{\infty}(\mathbb{R}^n)$$

where $K_{\epsilon} = \{x \in \mathbb{R}^n : \operatorname{dist}(x, K) \leq \epsilon\}$ and C_{ϵ} is a positive constant depending only on $\epsilon > 0$. By $\mathcal{E}'(K)$ we denote the set of all distributions with support in a compact subset K.

DEFINITION 2.2. We say that a function $\phi \in C^{\infty}(\mathbb{R}^n)$ is rapidly decreasing at infinity if

$$\lim_{|x|\to\infty}|x^\alpha\partial^\beta\phi(x)|=0$$

for all pairs of multi-indices α and β .

We shall use S to denote the set of all rapidly decreasing functions and $S'(\mathbb{R}^n)$ to denote the set of all continuous linear functionals T on

the space S with respect to semi-norm $P_{\alpha,\beta}(\phi) = \sup_{x \in \mathbb{R}^n} |x^{\alpha} \partial^{\beta} \phi(x)|$, or equivalently $P_{N,\beta}(\phi) = \sup(1+|x|^2)^N |\partial^{\beta} \phi(x)|$ i.e. there are a constant $C \geq 0$ and a nonnegative integer N such that

$$|\langle T, \phi \rangle| \le C \sum_{|\alpha|, |\beta| \le N} \sup |x^{\alpha} \partial^{\beta} \phi|, \ \phi \in \mathcal{S}(\mathbb{R}^n).$$

The members of $\mathcal{S}'(\mathbb{R}^n)$ are called tempered distributions. For a subset E of \mathbb{R}^n we define

$$H_E(\xi) = \sup_{x \in E} \langle x, \xi \rangle, \quad \xi \in \mathbb{R}^n.$$

One calls H_E the supporting function of E. It is easy to see that

$$H_E(\xi + \eta) \le H_E(\xi) + H_E(\eta)$$

and

$$H_E(t\xi) = tH_E(\xi); \quad t \ge 0$$

for any ξ and η in \mathbb{R}^n (see [7] for this).

3. The heat equation and the heat kernel

In this section we introduce the heat kernel and some basic properties of the solutions of the heat equation. It is well known that the locally integrable function

$$E(x,t) = egin{cases} (4\pi t)^{-rac{n}{2}} \exp[-rac{|x|^2}{4t}] & t>0, \ 0 & t<0, \end{cases}$$

satisfies $(\partial_t - \Delta)E = 0$ in $\mathbb{R}^n \times (\mathbb{R} \setminus \{0\})$, where $|x|^2 = x_1^2 + \cdots + x_n^2$ for $x \in \mathbb{R}^n$. In fact, E(x,t) is a fundamental solution of heat operator $\partial_t - \Delta$, that is,

$$(\partial_t - \triangle)E(x,t) = \delta(x,t).$$

For the later use, we recall some fundamental properties of the heat kernel.

LEMMA 3.1. $E(\cdot,t)$ is an entire function in \mathbb{C}^n of order 2 for each t>0. We have the following properties on E:

(i) We have

(3.1)
$$\int_{\mathbb{R}^n} E(x,t) \, dx = 1, \quad t > 0.$$

(ii) We have that for each $\delta > 0$ and m > 0

(3.2)
$$\int_{|y| \ge \delta} (1 + |y|^2)^m E(y, t) \, dy \to 0, \quad \text{as } t \to 0^+.$$

(iii) There are positive constants C and a such that for each t > 0

$$|D_x^{\alpha} E(x,t)| \le C^{|\alpha|+2} t^{-\frac{(n+|\alpha|)}{2}} \alpha!^{\frac{1}{2}} \exp[-\frac{a|x|^2}{4t}],$$

where a can be taken as close as desired to 1 and 0 < a < 1;

LEMMA 3.2. For every $\phi \in \mathcal{S}(\mathbb{R}^n)$, let

$$U_{\phi}(x,t) = \int_{\mathbb{R}^n} E(x-y,t) \, \phi(y) \, dy \, , \, t > 0.$$

Then $U_{\phi}(x,t) \to \phi(x)$ in $\mathcal{S}(\mathbb{R}^n)$ as $t \to 0^+$.

Proof. First, it is easy to see that $U_{\phi}(\cdot,t)$ is infinitely differentiable in \mathbb{R}^n for each t>0. Now to show the convergence let $\phi\in\mathcal{S}(\mathbb{R}^n)$. In fact, it suffices to show that for every N>0 and multi-index β

$$\sup_{x\in\mathbb{R}^n}(1+|x|^2)^N\left|\partial^\beta U_\phi(x,t)-\partial^\beta\phi(x)\right|\to 0$$

as $t \to 0^+$.

Applying the mean value theorem and Peetre's inequality

$$(1+|\xi|^2)^s(1+|\eta|^2)^{-s} \le 2^{|s|}(1+|\xi-\eta|^2)^{|s|}$$

for $s \in \mathbb{R}$ and $\xi, \eta \in \mathbb{R}^n$ we obtain

$$(3.4) (1+|x|^2)^N |\partial^{\beta}\phi(x-y) - \partial^{\beta}\phi(x)|$$

$$\leq (1+|x|^2)^N |\nabla \partial^{\beta}\phi(x-\theta y)| \cdot |y|$$

$$\leq C(1+|x|^2)^N (1+|x-\theta y|^2)^{-N} \cdot |y|$$

$$\leq C2^N (1+|y|^2)^N \cdot |y|, \quad x, y \in \mathbb{R}^n$$

for a constant $C = C(N, \beta)$ and $0 < \theta < 1$. Then for each N > 0 and β we can write

$$(3.5) \qquad (1+|x|^2)^N |\partial^{\beta} U_{\phi}(x,t) - \partial^{\beta} \phi(x)|$$

$$= (1+|x|^2)^N \left| \int_{\mathbb{R}^n} E(y,t) \left[\partial^{\beta} \phi(x-y) - \partial^{\beta} \phi(x) \right] dy \right|$$

$$\leq \int_{\mathbb{R}^n} E(y,t) (1+|x|^2)^N \left| \partial^{\beta} \phi(x-y) - \partial^{\beta} \phi(x) \right| dy$$

$$\leq C2^N \int_{\mathbb{R}^n} E(y,t) (1+|y|^2)^N \cdot |y| dy$$

Now let δ be a small positive number. The last integral in (3.5) can be written as

$$(3.6) \int_{\mathbb{R}^{n}} E(y,t)(1+|y|^{2})^{N} \cdot |y|dy$$

$$= \int_{|y| \leq \delta} E(y,t)(1+|y|^{2})^{N} \cdot |y|dy + \int_{|y| > \delta} E(y,t)(1+|y|^{2})^{N} \cdot |y|dy$$

$$\leq \delta(1+\delta^{2})^{N} + \int_{|y| > \delta} (1+|y|^{2})^{N+1} E(y,t)dy$$

In view of Lemma 3.1.(ii) the last integral becomes arbitrarily small as $t \to 0^+$. This completes the proof.

Let $u \in \mathcal{E}'(K)$. Then the function

(3.7)
$$U(x,t) = u_y(E(x-y,t)) \quad x \in \mathbb{R}^n , t > 0,$$

is well defined since $E(x - \cdot, t) \in \mathcal{S}$ for each $x \in \mathbb{R}^n$ and t > 0.

THEOREM 3.3. Let $u \in \mathcal{E}'(K)$. Then $U(x,t) = u_y(E(x-y,t))$ is an infinitely differentiable function in $\mathbb{R}^{n+1}_+ = \mathbb{R}^n \times (0,\infty)$ satisfying the following condition:

$$(3.8) (\partial_t - \triangle) U(x,t) = 0 in \mathbb{R}^{n+1}_+$$

and for every $\epsilon > 0$ there are positive constants C_{ϵ} and N such that

$$(3.9) |U(x,t)| \le C_{\epsilon} t^{-\frac{(n+N)}{2}} \exp\left[-\frac{\operatorname{dist}(x,K_{\epsilon})^{2}}{8t}\right], (x,t) \in \mathbb{R}^{n+1}_{+}.$$

Sunmi Lee and Soon-Yeong Chung

Also, $U(x,t) \rightarrow u$ as $t \rightarrow 0^+$ in the following sense that

(3.10)
$$u(\phi) = \lim_{t \to 0^+} \int_{\mathbb{R}^n} U(x,t) \, \phi(x) \, dx \,, \quad \phi \in \mathcal{S}(\mathbb{R}^n) \,.$$

Conversely, every C^{∞} function U(x,t) defined in \mathbb{R}^{n+1}_+ satisfying conditions (3.8) and (3.9) can be expressed in the form

$$U(x,t) = u_y(E(x-y,t)), \quad x \in \mathbb{R}^n, t > 0.$$

with a unique element $u \in \mathcal{E}'(K)$.

Proof. Let $u \in \mathcal{E}'(K)$ and $U(x,t) = u_y(E(x-y,t))$. Then U(x,t) is well defined and infinitely differentiable for each t > 0 and also satisfies the heat equation (3.8). The fact that $u \in \mathcal{E}'(K)$ means that for any $\epsilon > 0$ there exist positive constants C_{ϵ} and N such that

$$|U(x,t)| \leq C_{\epsilon} \sup_{\|\alpha\| \leq N \atop n \in K} |\partial_x^{\alpha} E(x-y,t)|$$
.

Thus from (3.3) we have

$$|U(x,t)| \leq C_{\epsilon} C_{a}^{|N|+2} N!^{\frac{1}{2}} t^{-\frac{(n+N)}{2}} \exp\left[-\frac{a \operatorname{dist}(x, K_{\epsilon})^{2}}{4t}\right]$$

$$\leq C_{\epsilon,N,a} t^{-\frac{(n+N)}{2}} \exp\left[-\frac{a \operatorname{dist}(x, K_{\epsilon})^{2}}{4t}\right]$$

This gives (3.9) by taking $a = \frac{1}{2}$ for convenience. Now to prove (3.10) let $\phi \in \mathcal{S}(\mathbb{R}^n)$. Then we have for each t > 0,

$$\int U(x,t) \, \phi(x) \, dx \, = \, u_y(\int E(x-y,t) \, \phi(x) \, dx) = \, u(U_\phi(y,t))$$

by taking the limit of the Riemann sum of the first integral. Then it follows from Lemma 3.2 that

$$u(\phi) = \lim_{t \to 0^+} \int_{\mathbb{R}^n} U(x,t) \, \phi(x) \, dx, \quad \phi \in \mathcal{S}(\mathbb{R}^n),$$

which proves (3.10).

To prove the converse we assume that $U(x,t) \in C^{\infty}(\mathbb{R}^{n+1}_+)$ satisfies the conditions (3.8) and (3.9). For a positive integer m we define a function

f(t) as

$$f(t) = \begin{cases} t^{m-1}/(m-1)! & , t \ge 0 \\ 0 & , t < 0 \end{cases}.$$

Multiplying f with a suitable C^{∞} function with compact support it is possible to get the following relation

(3.11)
$$\left(\frac{d}{dt}\right)^m v(t) = \delta(t) + \omega(t)$$

for every $t \in \mathbb{R}$ for suitable functions v(t) and w(t) such that v(t) = f(t) for $-\infty < t \le 1$, v(t) = 0 for $2 \le t < \infty$, $\omega(t) \in C_0^{\infty}(\mathbb{R})$, supp $\omega \subset [1,2]$ and $\delta(t)$ is the Dirac delta function. Take $m = [\frac{(N+n)}{2}] + 2$ where N is a constant given in (3.9) and consider the following function

$$G(x,t) = \int_0^\infty U(x,t+s) v(s) ds.$$

Then it is easily seen that G(x,t) is a bounded and continuous function on $\mathbb{R}^{n+1}_+ = \{(x,t)|x \in \mathbb{R}^n, t \geq 0\}$ satisfying the heat equation

(3.12)
$$(\frac{\partial}{\partial t} - \triangle) G(x, t) = 0 \text{ in } \mathbb{R}^{n+1}_+.$$

Therefore, it follows from (3.11) and (3.12) that in \mathbb{R}^{n+1}_+

$$(3.13) \quad (-\triangle)^m G(x,t) = (-\frac{d}{dt})^m G(x,t) = U(x,t) + \int_0^\infty U(x,t+s) \,\omega(s) \,ds .$$

If we put

$$H(x,t) = -\int_0^\infty U(x,t+s)\,\omega(s)\,ds\,,$$

then H(x,t) is also a C^{∞} solution of heat equation in \mathbb{R}^{n+1}_+ which is continuously extended to \mathbb{R}^{n+1}_+ . Furthermore, if we define g(x)=G(x,0) and h(x)=H(x,0) then g(x) and h(x) are continuous and bounded on \mathbb{R}^n . In view of the well known uniqueness theorem of the solutions of

the heat equation we have

(3.14)
$$G(x,t) = \int E(x-y,t) g(y) dy = (g * E)(x,t),$$

$$H(x,t) = \int E(x-y,t) h(y) dy = (h * E)(x,t)$$

where * denotes the convolution with respect to the x variable.

Now we define u as

$$(3.15) u = (-\triangle)^m g(x) + h(x) .$$

Since g and h are continuous it is easy to see that u is a distributions on \mathbb{R}^n . Then (3.14) implies that

$$(u * E)(x,t) = (-\triangle)^m (g * E)(x,t) + (h * E)(x,t)$$

$$= (-\triangle)^m G(x,t) + H(x,t)$$

$$= U(x,t) .$$

Thus in view of (3.9) and (3.10) we can see that u is a distribution with compact support. Hence it remains to show that supp u is contained in K. In fact, for every $\phi \in \mathcal{S}(\mathbb{R}^n)$ with supp $\phi \cap K = \emptyset$, the conditions (3.9) and (3.10) enable us to have

$$|\langle u, \phi \rangle| = 0$$
.

This implies that u belongs to $\mathcal{E}'(K)$. Since the uniqueness of such $u \in \mathcal{E}'(K)$ is obvious the proof is completed.

Remark 3.1. The condition (3.9) in Theorem 3.3 can be somewhat weakened as follows: For every $\epsilon > 0$

$$|U(x,t)| \leq C_{\epsilon} t^{-\frac{(n+N)}{2}} \text{ in } \mathbb{R}^{n+1}_{+}.$$

and for every $\delta > 0$

$$U(x,t) \rightarrow 0$$

uniformly in $\{x \in \mathbb{R}^n : \operatorname{dist}(x, K) \ge \delta\}$ as $t \to 0^+$.

In fact, in the proof above we have proved the following structure theorem for the distributions with compact support:

COROLLARY 3.4. Let K be a compact subset in \mathbb{R}^n . If $u \in \mathcal{E}'(K)$ then there is a number m > 0 and there are bounded continuous functions g(x) and h(x) such that

$$u = \triangle^m g(x) + h(x) ,$$

where $g(x) \in C^{\infty}(\mathbb{R}^n \setminus K)$, $h(x) \in C^{\infty}(\mathbb{R}^n)$ and $\triangle^m g(x) + h(x) = 0$ in $\mathbb{R}^n \setminus K$.

4. A new proof of the Paley - Wiener theorem

For $u \in \mathcal{E}'(K)$ its Fourier transform \hat{u} is defined by $\hat{u}(\xi) = \langle u_x, e^{-ix\xi} \rangle$, $\xi \in \mathbb{R}^n$. Then it is easy to see that $\hat{u}(\xi)$ is an infinitely differentiable function which can be extended to an entire function in \mathbb{C}^n (See [1, 5, 7, 10]).

We are now in a position to prove the Paley-Wiener theorem in a new method depending on the idea of Theorem 3.3, which is a main theorem of this paper.

THEOREM 4.1. Let K be a convex compact subset of \mathbb{R}^n with supporting function H_K . If $F(\zeta)$ is an entire function satisfying

$$(4.1) |F(\zeta)| \le C(1+|\zeta|)^N \exp[H_K(Im\zeta)],$$

for all $\zeta = \xi + i\eta \in \mathbb{C}^n$ and for some $N \geq 0$, then $F(\zeta)$ is the Fourier–Laplace transform of a unique element in $\mathcal{E}'(K)$.

Proof. Let $F(\zeta)$ be an entire function in \mathbb{C}^n satisfying property (4.1). Now, we define a function $\tilde{U}(\zeta,t)$ on $\mathbb{C}^n \times (0,\infty)$ as follows:

(4.2)
$$\tilde{U}(\zeta,t) = F(\zeta)\exp(-t\zeta^2).$$

Then for each t > 0 we have $\tilde{U}(\xi, t) = F(\xi) \exp(-t|\xi|^2) \in \mathcal{S}(\mathbb{R}^n_{\xi})$. If we define

(4.3)
$$U(x,t) = (2\pi)^{-n} \int_{\mathbf{p}_n} e^{ix\xi} \tilde{U}(\xi,t) \, d\xi \, , \, x \in \mathbb{R}^n, \, t > 0$$

then $U(x,t) \in C^{\infty}(\mathbb{R}^{n+1}_+)$ and satisfies

$$(4.4) \qquad (\frac{\partial}{\partial t} - \Delta)U(x,t) = 0 \text{ in } x \in \mathbb{R}^n_+ \ t > 0.$$

In view of (4.1) we have

$$\begin{split} |U(x,t)| & \leq (2\pi)^{-n} \int_{\mathbb{R}^n} |e^{ix\xi} \tilde{U}(\xi,t)| \, d\xi \\ & = (2\pi)^{-n} \int_{\mathbb{R}^n} |F(\xi)| e^{-t|\xi|^2} \, d\xi \\ & \leq C \int_{\mathbb{R}^n} (1+|\xi|)^N e^{-t|\xi|^2} \, d\xi \\ & = C \int_{\mathbb{R}^n} \sum_{k=0}^N \binom{N}{k} |\xi|^k e^{-t|\xi|^2} \, d\xi \\ & = C \sum_{k=0}^N \binom{N}{k} \int_{\mathbb{R}^n} |\xi|^k e^{-t|\xi|^2} \, d\xi \\ & = C \sum_{k=0}^N \binom{N}{k} \int_0^\infty \int_{S^{n-1}} r^{n+k-1} e^{-tr^2} \, d\omega \, dr \\ & = C \sum_{k=0}^N \binom{N}{k} \omega_{n-1} \int_0^\infty r^{n+k-1} e^{-tr^2} \, dr \end{split}$$

where $\xi = r\omega$, r > 0, $|\omega| = 1$ and ω_{n-1} denotes the surface area of S^{n-1} . An elementary calculation gives

$$\int_0^\infty r^{n+k-1}e^{-tr^2}\,dr = rac{1\cdot 3\cdot 5\cdots (2m-1)}{2^{m+1}}\sqrt{\pi}t^{-rac{2m+1}{2}}$$

when $n+k-1=2m\geq 0$ and

$$\int_0^\infty r^{n+k-1} e^{-tr^2} \, dr = \frac{m!}{2t^{m+1}},$$

when n + k - 1 = 2m + 1.

Hence we have the estimate

$$(4.5) |U(x,t)| \le C_N t^{-N}, \quad x \in \mathbb{R}^n, \ t > 0$$

for some integer $N \geq 0$. From this we can see that the initial value U(x, 0+) defines a distribution in \mathbb{R}^n .

Now we are going to find more detailed estimate which gives an information about support. By shifting the integration in (4.3) into the

complex domain, we have

$$U(x,t) = (2\pi)^{-n} \int_{\mathbb{R}^n} e^{ix(\xi+i\eta)} \tilde{U}(\xi+i\eta,t) \, d\xi$$

for an arbitrary fixed vector $\eta \in \mathbb{R}^n$. Estimating the integral by using (4.1) and (4.5), we have for every $\epsilon > 0$

$$(4.6) |U(x,t)|$$

$$\leq C \exp[H_K(\operatorname{Im}\zeta) - x\eta + t|\eta|^2] \int_{\mathbb{R}^n} (1+|\xi|)^N (1+|\eta|)^N e^{-t|\xi|^2} d\xi$$

$$\leq C'_N t^{-N} \exp[H_K(\operatorname{Im}\zeta) - x\eta + t|\eta|^2] (1+|\eta|)^N$$

For $x_0 \notin K_{\epsilon}$ and $y_0 \in \partial K$ choose a vector $\eta_0 = \frac{x_0 - y_0}{|x_0 - y_0|} \in \mathbb{R}^n$ such that

$$H_0 = \{x | \langle x, \eta_0 \rangle = \langle y_0, \eta_0 \rangle \}, H_1 = \{x | \langle x, \eta_0 \rangle = \langle y_0, \eta_0 \rangle + \epsilon \}.$$

Then it follows that

$$\langle x_0, \eta_0 \rangle - \langle y, \eta_0 \rangle \ge \epsilon$$
.

for every $y \in K$. Namely, for every $x \notin K_{\epsilon}$ there is $\eta_0 \in \mathbb{R}^n$ such that $\langle x, \eta_0 \rangle \geq \sup_{u \in K} \langle y, \eta_0 \rangle + \epsilon$.

Taking $\eta = \frac{1}{\sqrt{t}}\eta_0$ in (4.6) it follows that

$$|U(x,t)| \le C_N' t^{-N'} \exp[-\frac{1}{\sqrt{t}}(x\eta_0 - H_K(\eta_0))]$$

which is reduced to the condition (3.9). By Theorem 3.3, there exists a unique element $u \in \mathcal{E}'(K)$ such that $U(x,t) = u_y(E(x-y,t))$ and $U(x,t) \to u$ in the sense of (3.10). Hence it remains to show that $F(\zeta)$ is the Fourier – Laplace transform of u as an element of $\mathcal{E}'(K)$. By \mathcal{F} and \mathcal{F}^{-1} we denote the Fourier transform and the Fourier inverse transform

Sunmi Lee and Soon-Yeong Chung

respectively. Then for each $\phi \in \mathcal{S}(\mathbb{R}^n)$ we have

$$\begin{split} \langle U(x,t),\phi(x)\rangle &= \langle \mathcal{F}^{-1}(\tilde{U}(\xi,t)),\phi(x)\rangle = \langle \tilde{U}(x,t),\mathcal{F}^{-1}(\phi)\rangle \\ &= \langle F(x)\exp(-t|x|^2),\mathcal{F}^{-1}(\phi)\rangle \\ &= \langle F(x),\exp(-t|x|^2)\mathcal{F}^{-1}(\phi)\rangle \\ &= \langle F(x),\mathcal{F}(E(\xi,t))\mathcal{F}^{-1}(\phi)\rangle \\ &= \langle F(x),\mathcal{F}(E(\xi,t))(2\pi)^{-n}\mathcal{F}(\phi(-\xi))\rangle \\ &= \langle F(x),(2\pi)^{-n}\mathcal{F}(E(\xi,t)*\phi(-\xi))\rangle \\ &= \langle \mathcal{F}(F(\xi)),(2\pi)^{-n}E(x,t)*\phi(-x)\rangle \end{split}$$

Therefore, in view of Lemma 3.2 we have

$$\begin{split} \langle u, \phi \rangle &= \lim_{t \to 0+} \langle U(x, t), \phi(x) \rangle \\ &= \lim_{t \to 0+} \langle \mathcal{F}(F(\xi)), (2\pi)^{-n} U_{\phi}(-x, t) \rangle \\ &= \langle (2\pi)^{-n} \mathcal{F}(F), \phi(-x) \rangle \\ &= \langle \mathcal{F}^{-1}(F), \phi \rangle, \end{split}$$

which implies that $\mathcal{F}(u) = F$. This completes the proof.

ACKNOWLEDGEMENT. Authors wish to thank the referee for his suggestions and J. Chung for discussions through D. Kim's seminar.

References

- [1] J. Barros Neto, An introduction to the theory of distributions, Marcel Dekker, INC. New York, 1973.
- [2] S.-Y. Chung and D. Kim, Representation of quasianalytic ultradistributions, Ark. Mat. 31 (1993), 51-60.
- [3] ______, Distributions with exponential growth and Bochner Schwartz theorem for Fourier hyperfunctions, Publ. RIMS, Kyoto Univ. 31 (1995), 829-845.
- [4] _____, Positive definite hyperfunctions, Nagoya Math. J. 40 (1995), 139-149.
- [5] F. G. Friedlander, Introduction to the theory of distributions, Cambridge University Press, London, 1982.
- [6] I. M. Gelfand and G. E. Shilov, Generalized functions 2 and 4, Academic Press, New York, 1968.
- [7] L. Hörmander, The Analysis of Linear Partial Differential Operators I, Springer-Verlag, Berlin Göttingen Heidelberg, 1963.
- [8] H. Komatsu, Ultradistributions, I, Structure theorems and a characterization, J. Fac., Sci. Univ. Tokyo Sect. IA 20 (1973), 25-105.

- [9] T. Matsuzawa, A calculus approach to hyperfunctions I, Nagoya Math. J. 108 (1987), 53-66.
- [10] L. Schwartz, Théorie des distributions, Hermann, Paris, 1966.
- [11] D. V. Widder, The heat equation, Academic Press, New York, 1975.
- [12] N. Wiener and R. Paley, Fourier Transforms in the Complex Domain, Nauka, Moscow, 1964.

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, KOREA E-mail: sychung@ccs.sogang.ac.kr